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x| mn| BR | m |eR | me | e | w2 |aR | wee| 20| 5
1 NFo [£3] 6C = 920 [£3] 3NT +3 490 10
2 2] ¢ R ANT -1 50 [£3] 2NT -1 -100 4
3 panyiic] Jra] 1S +2 -140 [ri] 4S -2 200
4 =] x 2H +1 -140 x 4H -1 100
5 [mdt] 4t 4H 1 | 100 | 7 5D +1 | -420
6 panyiic] Jri] 3S -1 100 [£3] 3H -1 -50
7 Wa o= 4S +3 -710 x 6S = 1430 12
8 I ILL PAS| x 4H -1 50 2
9 pamyiis] 1t 3H +1 170 it 2H +1 140 1
10 | WA [£3] 3H -3 -300 [£3] 2H = 110 9
11 | XFEG x 4S +1 -450 x 4S +1 -450
12 | FEit 1t ANT +1 120 1t 3NT -2 -200 8
DATUMit B
Iz ISR Y. 3+ a7 | 25
XUBfr/ZX % 17 K /B ZE -6 Aait a7 | 25
BRI /RS 6 SHEE/RRIRS -17 V.P. 15.99 | 4.01
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x| mn| BR | m |eR | me | e | w2 |aR | wee| 20| 5
1 NFo x 4Sx -1 100 [£3] 3NT +3 490 9
2 2] ¢ R ANT +1 -120 x ANT = -90 1
3 panyiic] Jra] 4S -2 200 [ri] 4S -2 200
4 =] x 2H +1 -140 x 4H -2 200 8
5 2] ¢ x 5Dx +1 -650 [ra] 5Cx -1 100 13
6 panyiic] [£3] 3H -1 -50 [£3] 4Hx -3 -500 10
7 Wa o= 4S +2 -680 x 6S = 1430 13
8 NTo [£3] 5Cx -1 -100 [£3] 4C = 130 6
9 pamyiis] 1t 2H +2 170 it 4H -1 -50 6
10 | WA 5| 2S -2 -200 [£3] 2H -1 -100 3
11 | XFEG x 4S +1 -450 x 58 -1 50 11
12 | FiL 1t 3NT -2 -200 1t 3NT -2 -200
DATUMit B
ARULES EMExR Y, 1 20 | 51
BEE/RE -24 B~/ F & 1 ait 29 | 51
oREEZ/AlE)E -1 {B{ZEE /LTI 24 V.P. 4.01 | 15.99
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x| mn| BR | m |eR | me | e | w2 |aR | wee| 20| 5
1 NFo [£3] 5C +1 420 x 4Sx -3 500 2
2 2] ¢ R ANT = -90 it 3D -1 -100
3 panyiic] Jra] 4S -2 200 [ri] 4S -2 200
4 =] x 2NT +3 -210 x 4H -1 100
5 2] ¢ Jra] 5Dx +1 -650 x 5D +1 -420
6 panyiic] [£3] 3H = 140 [£3] 3H -1 -50 5
7 Wa o= 4S +1 -650 [ri] 4S +2 -680
8 NTo Jra] 4S -1 50 [ri] 3H = -140 5
9 pamyiis] 1t 3H +1 170 it 4H = 420 6
10 | WA [£3] 2D -2 -200 [£3] 3H -3 -300 3
11 | XFEG x 4S +1 -450 x 4S +1 -450
12 | FEit 1t ANT = 90 1t 3NT -2 -200 7
DATUMit B

BRI I'&¥8 . X+ 21 21
HEE/EEY 0 KIEAUEE 0 2 ait | 21 | 2
EOHREY 2 EE4Y/SEFEE O VP. | 10 | 10
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x| mn| BR | m |eR | me | e | w2 |aR | wee| 20| 5
1 NFo it 3NT +3 490 it 3NT +3 490
2 2] ¢ [£3] 2NT -2 -200 it 3D -200
3 panyiic] Jra] 3NT -1 100 [ri] 4S 200 3
4 =] x 4H -1 100 x 4H 200 3
5 2] ¢ x 5Dx +1 -650 x 5D +1 -420 6
6 panyiic] [£3] 4Hx -2 -300 [£3] 3H -1 -50 6
7 Wa o= 6S +1 | -1460 x 4S +2 -680 13
8 NTo 1t 5C -1 -50 [ri] 5H -2 100 4
9 pamyiis] 1t 4H = 420 it 4H = 420
10 | WA [£3] 2H -1 -100 [£3] 2H = 110 5
11 | XFEG x 4S +1 -450 x 4S = -420
12 |mEidb| 46 | 3NT | -1 | 100 | 4t | INT | = 90 5
DATUMit B
Rk [E3R3pA) Y. 3+ 46

XI5 /5B EhE -24 BERRE T/t B 26 Aait 46

EMT/R2X 26 KB/Zm@ 24 | VP, | ose | 194
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x| mn| BR | m |eR | me | e | w2 |aR | wee| 20| 5
1 NFo [£3] 3NT +3 490 it 3NT +3 490
2 2] ¢ [£3] 3NT -3 -300 [ri] 1S +1 -110
3 panyiic] Jra] 3NT -1 100 [ri] 4S -2 200
4 =] x 4H -4 400 [ri] 2H +1 -140 11
5 2] ¢ x 5Dx +1 -650 x 5D +1 -420
6 panyiic] [£3] 4H -2 -100 [£3] 3H -1 -50
7 Wa o= 4S +3 -710 [ri] 6S +1 | -1460 13
8 NTo Jra] 4H = -420 x 4Hx -1 100 11
9 pamyiis] 1t 4Hx = 590 it 3H +1 170 9
10 | WA [£3] 2H = 110 [£3] 3H = 140 1
11 | XFEG x 4S +1 -450 x 4S +1 -450
12 | FEit 1t ANT +1 120 1t ANT = 90 1
DATUMit B
iw®YIEE I~ 4‘|‘|ZI1‘$ Y. 3+ 34 | 28
{AI3Z58/ERAX 9 SR/ -6 Aait 34 | 28
mEE/KE 6 XKY/BEE -9 | VP |1201] 7.9




